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Seat No.: ________                                                     Enrolment No.______________  

 

GUJARAT TECHNOLOGICAL UNIVERSITY 
DIPLOMA ENGINEERING – SEMESTER -EXAMINATION – WINTER 2015 

 

Subject Code: 320007 Date:11/01/2016 

Subject Name: Elements of Civil Engg. 

Time: 10:30 AM TO 1:00 PM Total Marks: 70 
 
Instructions: 

1. Attempt all questions. 

2. Make Suitable assumptions wherever necessary.  

3. Figures to the right indicate full marks.  

4. Use of programmable & Communication aids are strictly prohibited.  

5. Use of only simple calculator is permitted in Mathematics.  

6. English version is authentic. 
 

Q.1  Answer any seven out of ten. 14 

 1. Write the list of instruments used in chain and tape survey.  

 2. Write the names of parts of prismatic compass.  

 3. Define forebearing and back bearing.  

 4. Write any four factors affecting machine foundation.  

 5. Explain water cement ratio.  

 6. Define: 1) floor space index  2) floor area ratio.  

 7. Write types of cement.  

 8. Define Bye-laws.   

 9. Define levelling.  

 10. Write uses of map.  

    
Q.2 (a) Enlist the elements of concrete. 03 

  OR  

 (a) Write field test of cement. 03 

 (b)      Write factors affecting strength of concrete. 03 

  OR  

 (b) Differentiate: cement mortar & lime mortar. 03 

 (c) Explain purposes of machine foundation. 04 

  OR  

 (c) Differentiate: brick & stone. 04 

 (d) Write factors affecting layout of industrial shed. 04 

  OR  

 (d) Write factors to be considered while designing machine foundation. 04 

    
Q.3 (a) Give importance of byelaws. 03 

  OR  

 (a) Give symbols of following: 

a)stone work b) ceiling fan c) cement concrete. 
03 

 (b) Give full form of following. 

1)BBLC 2) DPC 3) RCC 
03 

  OR  

 (b) Write advantages & disadvantages of first angle method. 03 

 (c) Factors affecting selection of site of industrial building. 04 

  OR  

 (c) Draw a suitable layout of industrial shed. 04 

 (d) Enlist the materials used in construction for civil engineering work and give 

importance of any two. 
04 
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  OR  

 (d) Explain with sketch relation between compressive strength of concrete and 

water cement ratio. 
04 

    
Q.4 (a) Define - 1) temporary benchmark 2)line of collimation 3) reduced level. 03 

  OR  

 (a) Define -1)back sight 2) foresight 3) change point 03 

 (b) Explain temporary adjustment of prismatic compass. 04 

  OR  

 (b) Write short note on local attraction. 04 

 (c) Following readings were observed while leveling on a continuously slopping 

ground with 4m leveling staff. The RL of benchmark is 100m 

0.59,1.23,2.80,3.50,0.48,1.68 and 2.40m 

Calculate the R. L. of all other points. apply arithmetical check. 

07 

    
Q.5 (a) Explain temporary adjustment of dumpy level. 04 

 (b) Convert the following WCB into RB 

(a) 43º - 30’ (b) 133º - 0’ (c) 276º - 15’ (d)187º - 45’. 

04 

 (c) Write short note on 

1)line ranger 2) prism squre 3) cross staff. 
03 

 (d) Differentiate between Plan &Map. 03 
 

ગજુરાતી 
પ્રશ્ન. ૧  દશમ ાંથી કોઇપણ સ તન  જવ બ આપો. ૧૪ 

 ૧. R[G VG[ 8[5 ;J[“1F6DF\ J5ZFTF ;FWGMGL IFNL AGFJMP  

 ૨. l5|hD[8LS S\5F;GF\ EFUMGF GFD VF5MP  

 ૩. jIFbIF VF5M o VU|A[ZL\U VG[ 5ªJA[ZL\U   

 ૪. DXLG OFpg0[XG G[ V;Z SZTF SM. 56 RFZ 5ZLA/M ,BMP  

 ૫. 5F6L VG[ ;LD[g8GM U]6MTZ ;DHFJMP  

 ૬. jIFbIF VF5M o s!f O,MZ :5[; .g0[1F  sZf O,MZ V[ZLIF U]6MTZ  

 ૭. ;LD[g8GF 5|SFZ ,BMP  

 ૮. jIFbIF VF5M o AFI,Mh  

 ૯. jIFbIF VF5M o T,[1F6  

 ૧૦ GSXFGF\ p5IMUM ,BMP  

    
પ્રશ્ન. ર અ SMgS|L8GF\ 38SMGL IFNL ATFJMP ૦૩ 

  અથવ   

 અ l;D[g8G\] :Y/ 5ZL1F6 H6FJMP ૦૩ 

 બ SMgS|L8GF ;FDyI”G[ V;Z SZTF 5ZLA/M H6FJMP ૦૩ 

  અથવ   

 બ TOFJT VF5M v l;D[g8 SM, VG[ R]GFGMSM,P ૦૩ 

 ક DXLgGF\ 5FIFGF C[T]VM ;DHFJMP ૦૪ 

  અથવ   
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 ક TOFJT VF5M v .\8 VG[ 5tYZP ૦૪ 

 ડ RMWF{ULS X[0GF ,[VFé*G[ V;Z SZTF\ 5ZLA/M ,BMP ૦૪ 

  અથવ   

 ડ DXLGGF\ 5FIFGL 0LhF.G SZTL JBT[ wIFGDF\ ZFBJFTF D]N|FVM J6”JMP ૦૪ 

    
પ્રશ્ન. ૩ અ AFI,MhG\] DCtJ ;DHJMP ૦૩ 

  અથવ   

 અ GLR[GFGL ;\7FVM VF5M sVf 5tYZSFD sAf KTGM 5\BM sSf ;LD[g8 SMgS|L8 ૦૩ 

 બ GLR[GFGF\ 5]ZFGFD VF5Mo sVf ALPALP V[,P;LP sAf 0LP5LP;LP sSf VFZP;LP;LP ૦૩ 

  અથવ   

 બ O:8” V[\U, 5wWTLGF\ OFINFVM VG[ U[ZOFINFVM ,BMP ૦૩ 

 ક VMWMULS lA,0L\UGL :Y/ 5;\NULG[ V;Z SZTF 5ZLA/M H6FJMP ૦૪ 

  અથવ   

 ક VF{WF{ULS X[0GM IMuI ,[vVFp8 NMZMP ૦૪ 

 ડ ;LlJ, >HG[ZL AF\WSFDDF\ p5IMUL D8LZLI,GL IFNL ATFJM tyFF SM. 56 A[GL VUtITF J6”JMP ૦૪ 

  અથવ   

 ડ SMgS|L8G\] NFA ;FDyY” sSMd5[|l;J :8=[gYf VG[ 5F6L ;LD[g8 U]6MTZ JrR[GM ;\A\W VFS’TL VF5L ;DHFJMP ૦૪ 

    
પ્રશ્ન. ૪ અ jIFbIF VF5M o s!f C\UFDL T,lRgC  sZf ,F>G VMO SM,LD[XG s#f ;F5[1F p\RF. ૦૩ 

  અથવ   

 અ jIFbIF VF5M o s!f 5ªJFJ,MSG  sZf VU|FJ,MSG  s#f AN, lA\N] ૦૩ 

 બ l5|hdF[8LS S\5F;G\] C\UFDL ;DFIMHG ;DHFJMP ૦૪ 

  અથવ   

 બ c:YFGLS VFSQF”6c 8\]SGM\W ,BMP ૦૪ 

 ક GLR[GF VJ,MSGM ,[J, VG[ 4 DL8ZGF\ ,[J,L\U :8FOJ0[ ;TT -F/JF/F D[NFGDF\ ,[JFDF\ VFJ[, K[P 

059, 1.23, 2.80, 3.50, 0.48, 1.68 VG[ 2.40m HM A[gRDFS"G\] VFZP V[,P 100m CMITM 

AFSLG\ AWF lA\N]VMGL ;F5[1F p\RF. XMWMP H~ZL UF6LTLI TF/M D[/JMP 

૦૭ 

    
પ્રશ્ન. ૫ અ 0D5L ,[J,G\] C\UFDL ;DI[HG ;DHFJMP ૦૪ 

 બ GLR[GF 5]6”J’T A[ZL\UG[ J’T5FN A[ZL\UDF\ O[ZJMP 

sVf 430 - 30’  sAf 1330 -  0’  sSf 2760 - 15’ s0f 1870 - 45’ 
૦૪ 

 ક GLR[GF 8\]SGM\W ,BMo 

sVf ,F.G Z[gHZ sAf 5|SFXLI U]6LIM sSf S|M; :8FO 

૦૩ 
 ડ TOFJT VF5M v %,FG VG[ GSXMP ૦૩ 
 

************ 

 


